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Question Number : 1 Question Id : 26544814612 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s NOT a common objective of teaching?

& 8IS 06 DO rres Hsae e¥5o s°th?
Options :

To develop eritical thinking skills
Do) )E @8’ S IPergeid DoEroBoD Bdigto

1. %

To provide students with travel opportunities

Bcire oo Do ooe)in Efolate
2.v © .

To foster a love for learning

@gPgORNNE (D50 POBPoBOSE0

To promote effective communication

SEnls HoBEEWD [Bfa)irosto

Question Number : 2 Question Id : 26544814613 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Emeotional development in adolescents often involves:

S0 Hcn 68 a:rnﬁﬁﬁigﬁ @5}3@@ &E'Cf;_:u esrSNE Sotnob:
Options :

Consistent emotional regulation and stability

DOBEEERES grSBY Dmotss, Lo

Increased independence and exploration of identity

, @ 08D ) HBaw HBODHE wkies



Preterence for following clear instructions
RPN SrSderd esen LAl v AL
3. %

Decreased need for social interaction

PErRE HBIY SBH SAS eBHBHD
4. % o

Question Number : 3 Question Id : 26544814614 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A well-equipped classroom with up-to-date technology 1s an example of a factor
affecting teaching related to:

S5 Perssed stved smirdomr , ‘e PoSBESS e Hils
DR SRS KB”, O BdyHSy:

Options :

The learner's indrvidual needs

. &r:le,}gﬁéj?i) é&%ﬁeﬁ @HHTRED

Instructional facilities

S5 FEoegen
2. ¥

The teacher's communication skills

0550 Hdroed Jsdeaegen
3. %

The mstitution's leadership
Q0w TeahESHn
4.% €

Question Number : 4 Question Id : 26544814615 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

In a learner-centered approach. students are encouraged to:

egIgRs éo@%é ﬂﬁaé&tﬁ:ﬁnéﬁ, &m@d]mmfﬁj 6 B°88 [Bfem S

Options :



Passively receive information from the instructor

FHe5% Hob Jdoearoed)) Jay Ej,dﬁ)rw &8 %0e

Actively participate in discussions and problem-solving

rﬁ@_a}éﬁ BoSreBore aREYR), Sy HBHBoSe

Focus solely on memorizing facts and figures

DAGIre, Heroseein fﬁ@ﬂjmﬂ?ﬁ]@cﬁﬁ Swéo a1 e

Complete assignments independently with mimimal guidance

4% 803 éﬁgﬁﬁé_géaﬁngﬁ © 0RO FFolBorr FrHDaine

Question Number : 5 Question Id : 26544814616 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

A modern teaching support system that allows for multimedia presentations and
interactive whiteboards falls under the category of:

é}@:ﬁ)&cﬁﬁ (220855, motoegs Qﬁéﬁiﬁga} SHAPT) @803 iHdE
S HEEG 550 @ HPS 8o $:508?

s %™y o =
Options :

Traditional support system

SlelFSnilowy Eﬁ@é&fﬁ a’;g@-

Modern support system with technology integration

FoESE edorrdos® HDH D H38
2.V Q ©

Purely ICT-based system with minimal teacher interaction

éﬁ);& AR soLTeEs SOAD ﬁéﬁ&@_}é ICT-esrBes &:Ige'_'%

Collaborative online learning platform

BOBS wgrgd JIrses S6E
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Correct Marks : 2 Wrong Marks : 0

Which of the following 1s NOT a common type of research?

& BI9% 0E° DB Jeedy HOF T HYS soH?

Options :

Quantitative research (data-driven)

. DBTerd)E $588%55 (Baroddins® $&D)
1.

Qualitative research (explorative)

- eee)8 568858 {@3&1@&%@

Action research (problem-solving focused)
ey 568555 (5035g HBaRB 5&%@5)
3. %

Personal opinion-based research

4 (BNS gred eprds 588558

Question Number : 7 Question Id : 26544814618 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Positivism and post-positivism can be seen as:

ar2®daso 0Bcn @%—%ﬁ&&a& & Dore Sreesaiyy:

Options :

Completely opposing and incompatible research approaches

aeBre éé@ﬂgo{i}, o5dgre HB8Ee é@éﬁj@v@

1. %

Complementary approaches with different strengths and weaknesses

5 250 BOAS meren, moirdden EDAS Jr88 HSogre.

Positivism 1s outdated and post-positivism 1s the only valid approach

. SraBdzo srwo 300, DY radeo HrEidh ey B EHw
3.

Post-positivism 1s irrelevant and positivism 1s sufficient

éﬂﬁ% B0 Howotio BO. arad®deo SADH
4. %
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Display Question Number : Yes
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The primary goal of descriptive research 1s to:

DDBeT & $588%5% ([@resns eFgsm:

Options :

Test hypotheses about cause-and-effect

selesren, DBeesire HBoY HoBenKe ﬁégpx‘i}@

Understand historical events and trends

TBlEE)E Sozpéaden, grEE e E:-go TnEH0e

Describe and document characteristics of a population

esarrgT MoePerl A0 BN

Explore subjective experiences and meanings

@@é{ﬁcﬂj@é ®:0diaemD, @55@?53 @3&31&‘5}&3

Question Number : 9 Question Id : 26544814620 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
A comprehensive review of previous studies related to your topic falls under the step

of:
& woddm 980D K etgabare Sl K’}dﬁ)é & BIHd 848° soenob:

Options :

. Developing research instruments

58808 HBgored @é]é@% Dosne

Reviewing existing literature

S8 2R SHoBoHe
2.v

Data collection and analysis

Serod HEbe Hbckn HFes
3. %

4, %



Disseminating research findings

58888 HDareH BTGRI0D Sc50e
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Ethical research requires:

I8 HBSEHH 5H ©BIBH0:

Options :

Prioritizing personal gain over participant well-being

é’ﬁwﬁgﬁ 08 géao B0& 58K orgrl8 (grainggs Dt

1. %

Conducting research with minimal oversight or review
SEND E’}i%ﬂésa, é@)é@@ﬁ $68%58 athde
2. %

Upholding the highest standards of honesty and transparency
©&HE (Shdmren, Dezeond, @Dﬁﬁﬁégééﬂé& DenzdD)e
3.

Concealing potential risks or benefits from participants

:ﬂteﬁgﬂ a8 oob, Sogrdy Eé% giairen, [Halreaoran orddinodé

4, %
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Note : Answer the questions 11-13 by reading the following passage:
KDE: (Bods aspbs Kirardo egrdorr 11-15 HHes dibrgeare @dbob.

Our first expedition was by the mland or nuddle road, which winds up by the bleak hillside till 1t
reaches a beautiful and attractive country. To those unaccustomed to such latitudes, it comes as a
surprise to see fertility increasing instead of diminishing with elevation. due to the more constant
rain among the hills. Monte and Santa Brigida may be said to be residential neighbourhoods and
have comfortable hotels and boarding-houses. There are two principal sights to be visited from
there. One 15 the village of Atalaya, which consists of a zone of cave dwellings. almost encircling
the summit of a dome-shaped hill. The eminence falls away on two sides to a deep ravine, over
which 1t commands magnificent views. and 15 connected with the adjacent hulls by a narrow coll.
The rock 15 of consolidated volcanic tuff. in which the dwellings are excavated. The fronts of the
houses abut on the pathway, which is about four feet wide, and are unequally placed. following
the contour of the ground. Each dwelling consists of two apartments, both about twelve feet square.
with rounded angles and a domed roof. the surface of the walls shows the chisel marks. The front
apartment 15 used as a bed-sittingroom. the back one as a store; and in some cases a lean-to
outhouse has been built of blocks of the same material. in which cooking is done and the goats
kept. Doors and window-sashes are inserted into the solid stone. Both dwellings and surroundings
are beautifully clean and neat; the first one exhibited we imagined to be a “show™ apartment, till
others proved equally neat and orderly. Flowers were planted in crannies of the rock and around
the doors and windows. bemng carefully tended and watered. The industry of the village 1s making
pots by hand without a wheel, the sand being obtained in one direction and the clay 1n another: the
shapes coincide in several instances with those taken from native bunal-grounds and now to be
seen 1n the musenm at Las Palmas. The occasion of our visit was unfortunately a fiestfa. and regular
work was not going on: an old lady. however, made us a model pot 1 a few minutes; 1t was
fashioned out of one piece of clay, with the addition of a little extra matenial if necessary: the

pottery 1s unglazed.
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Sub questions
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The reason behind rich greenery on the elevated hills 15

ﬁé&éﬁ Eoedd ﬁ”;’:nn} Ej"z:ﬁh‘}i‘iféo &otHe s se8eesn

Options :

Wet lands
1 % 888, afeanen

High altitude
©hE 2H&°

Frequent rains

S50 a’:acgl@
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Less population

4% SERD esogre
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Cave dwellings are found on the peak of shaped hall.

5 Dararen & (Bod SrHdnte Sof 3pdsned® 0%H05:5%.

Options :
Flat
1 % Hanene
Round
roolEsaimn
2.V
Jagged
DOBBE0ES
3. %
Comnical
4 % dogrset

Question Number : 13 Question Id : 26544814625 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Pick the word from the above paragraph which means ‘outline.’
2 200 508 “‘@Hiies” & @ﬂ@ﬂ&g% B5Pe%0 2ohHain.
Options :

Contour

et &3
1.v ¥

Abut
tﬁféﬁn’?



Crannies

L B
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The main business of the village 1s

(read Sy aregaram

Options :

Goat- keeping

A°[Be 230880

Farming

S5 ARHED

Tourism
émﬂgéjéo

Pottery
Hoden Ik
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The author called his visit unfortunate because

Bowes 80 éoétﬁg%’ab’m tﬁjécﬁej@o Eﬁ“&iﬂj}. aothBod

Options:

It was a holiday and shops were closed

e Bler o). thoreren S 6200

1. %



The village was celebrating a festival and normal work wasn’t going on

& (e 2.8 Hothl 2HHEotPod. Hethirhe Bt

The woman gave him an unglazed pot

3% @ £ BH 2.8 Hod owdHe

The woman made him a pot with just one piece of clay

e [ @808 28 én%eﬁmggﬁ Sr(E8ah Kok Sairth Fhob

4, %

Sub-Section Number : 3
Sub-Section Id : 265448598
Question Shuffling Allowed : Yes
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Closed body language such as avoiding eye-contact may denote

“ES‘“DEJ“%” o B Srdo Do HONS Ef@é gD &R APore
JD),

Options:

Confidence
S)FOX IS0
1. % EDCS

Lack of confidence

DD B0l
2. ¥

Sincerity

D&E00
="

Eagerness to learn
@5 (e
4, %
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communication relates to interaction among people from

different cultures.
& BHHD Ddroedsn DG ﬁoﬁe‘}}é}ﬂ o &) (e gy HBENY S8
20208 0NNE.
Options :
Intra-cultural

1. %

Cross- cultural
2. ®

Inter-cultural
3.¢¥

Intra-national
4.

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks
for this question if any of the correct options are chosen.

Question Number : 18 Question Id : 26544814630 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Persuasive communication in a classroom leads to environment.

S558 K660 aﬁgoé Hoadsn S8 5’10055668@0 E‘Jéﬂjtﬁ)é&é] Smishioshod.

Options:
Positive

1 ¢ e

Agaressive

(A3

Coercive
Dem0sdore

Unresponsive

4% éﬁj@&a@iﬁ?&
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A piece of communication that 1s delayed because 1t has to pass through hierarchy
levels can be considered as barrier.

i e dngy dr Aard (Eosm ALl 5@&3@5
a8 HoBE ©odHs wid & ©%08 ©VE)D.

Options :
Physical
1. % i

Environmental
éoﬁg}aﬁiﬁm

Social

3 % JrirRs

Organizational
o Y
4 @ 5PTDE

Question Number : 20 Question Id : 26544814632 Question Type : MCQ Option Shuffling : No
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Face book is an example of media.
2oz H28 eeses

Options :

Print
@085 Ereeisshnsin
1. %

Social

o
| FEFES SRt

Traditional

3 % DoRordd S



Electronic
QelgelE srgssnsin
4, ® *"“
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Complete the series with next coming number: 289, 256. 225, 196. 169.
1Bo0e506° Dared o33 D0WE & JFH0TI0R: 289, 256, 225, 196. 169,

Options:

144

Question Number : 22 Question Id : 26544814634 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

How 1s A’s father’s brother’s wife’s daughter related to A?

A T30E) S0B FANR 285 H0570 A8 D DFore Homogo EOA BB ?

Options :

Brother

Cousin
2.4

3 % Sister

4 % Aunt
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A train crosses a telegraph post in 25 seconds. Had it increased its speed by a fifth. it
would have crossed a platform of length 50 m 1n 25 seconds. Find the length of the
train.

Ben 25 IS’ OIS PR 000, 8 & I 08N H08) DODILNS,
296 25 DEIES’ 50 &Y rey fo TSardMh TBH. o Bew &rdd
E0I04.

Options :

150 m

15
3 ¢ 250 m

300 m

Question Number : 24 Question Id : 26544814636 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Of the 3 partners running a hotel the majority shareholder received half of the profit.
The partner mvesting least received one-fourth of the remaining profit. Their
investments have been in the business for the whole year with no changes. If they got a
profit of Rs. 12.000 after one year. what 1s the share of the person who mnvested the
maximum amount

TPOSD S S0 RPN Derdes Termrdd erdsod
B0 FOTS. LD DEPAS DG 23Tt WAOS eroeS Trenfot) 2.8
50 FPOTPED. 30 DEPDDEN T PBIT Jer0e Srddyen Biom
FErB06Y Sy om. 2.8 D056 360 ST séh TO8 8. 12,000 €720 ST, KO0
P2 DES 528 TeF Joes?

Options :

, x 1.000

5 % 3.000

3« 8.000
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Question Number : 25 Question Id : 26544814637 Question Type : MCQ Option Shuffling : No
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If 20 notebooks are bought for Rs. 125 and 16 books are sold at Rs. 110 then what 1s
the profit percentage?
20 SS208en &.125 5 §Q, 16 5y05en & 110 & s_s:-&héé eTE50 FEH0 Oeh?

Options :
1.« 10%

4w 15%

Question Number : 26 Question Id : 26544814638 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Consider the Venn diagram with three sets A, B and C like as follows with a=10.
b=11. ¢=12. d=2, =3, t=4. g=1, then n(BuC) =?

& (B0 Srdad A B, Cod S D IS Ho&® a=10,
b=11, c=12, d=2, e=3, f=4, g=1 ®ONS n(BuUC) No&%?

Options:

| % 38
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Statements:

DabEen:

Some A's are not B's.

§°0) Aen, B en 593

Some B’s are not C’s.

§°%) B ew, C en 573

Some C’s are not D’s.

%) Cen, D en 508

Conclusions:

Snhod earcho

I. SomeA’s are not D’s.
) Aen D en 5°).
II. Some B’s are not D’s.
Q) B en, D en 5°).
III. SomeA’s are not C’s.
) A en, Cen .
IV. Some C’s are not A's.

) C en, A en 5°).

Options:

. Conclusion I & II false
1.
> % Conclusion IT & IV false

o Conclusion 1. I1, I1I false

Conclusion 1. II. IIT and IV false
4.«

Question Number : 28 Question Id : 26544814640 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

The squirrel 1s a small animal like a rat' This statement comes under which type of
pramanas?

&S, dend 38 a8 DX w0, & AR08 O (HHreasn?

Options :
Pratyaksha
Anumana
O
Upamana
w
3 ¥ &P
Shabda
)
@
4, ®

Question Number : 29 Question Id : 26544814641 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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What does the concept of pramana imply?

[E&eeesn Gng) grDd B Ben)BHos?

Options :

Source of knowledge

e Gy HS5.
1.¢ %

Abiding the rules
Devotsden arfodhés

Performing duties

3 % Qguen Abkerohéd

Without knowledge and rules

m;?éa’m, Deotsden BHotHe.
4. %



Question Number : 30 Question Id : 26544814642 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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If the word ‘PLAYER’ is coded as ‘AELPRY", then how 1s the word ‘MANAGER”’
coded 1n that language?

‘PLAYER' & ‘AELPRY're 8°80ih T3) ‘MANAGER’& oer 880t Japth?

Options :
1. ® AEAGMNR

5 % AAGEMNR

3. v AAEGMNR

AAEGNMER
4, %
Sub-Section Number : 4
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Note: Answer the questions Q.31 to Q. 35 on the basis of the mformation given below.
K5DE: Bod =ikpbs Sdrardo egrborr Q31Ho6 Q.35 Hed dirgraren (@rdhot.

The number of votes polled for three parties A, B. C 1n a State 1n the three years 2014, 2018 and
2023 are presented in the following graph

2.4 T30S A B. C &0 Sorehy arferdo Sorchy 0568 30 e 2014, 2018 $o8050 2023 65 B
5.8 J0mg 1308 DS ®ododndod

Votes polled for three parties A, B, C during the last three elections

250,000 215,782
199,597
200,000 &«
: ~ 158,804
157,342 ~_ 151,65 :
4-:.._%‘1‘
150,000 ' . _g~Ti1548 :
.-\--'*T?,-.._._-..:_,.\_mn -
100000 1 34 L 118,873
50,000
E.
A B C
e 2023 111,46 151,659 215,782
== 2018 199,597 124432 118,873
g=1014 157,342 141,548 158,894
2023 w2018 2014

Sub questions

Question Number : 31 Question Id : 26544814644 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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The pecrcentage of increase of votes from 2014 to 2023 for Party-B 1s

B-r0) € 2014 00 2023 SE50 DOAN 2.8 TS0 DOeh?

Options :

15
1. ® ===

Z.Q .3:

Question Number : 32 Question Id : 26544814645 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



The pecrcentage of change of votes from 2018 to 2023 for Party-A 1s
A-o70 82014 S0 2023 SBEY  2.6) S350 TS0 )Oes?

Options :

e 0

Question Number : 33 Question Id : 26544814646 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
The percentage of mncrease of votes from 2014 to 2023 for Party-C 1s
C->Q 82018 S0OG 2023 S35 DOAD 2,8 TS0 D0eH?
Options :

1. % 65

Question Number : 34 Question Id : 26544814647 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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The number of more votes polled for Party C in 2023 when compared Party-B is
20236 aFQ-B & 30953180 o0 € 8 B 008 4,8 DoDE D0es?

Options :

| x 17.346

N

"
L
LN
L
o



3 ¢ 64.123

4 % 10111

Question Number : 35 Question Id : 26544814648 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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The increase of number of votes for Party-B from 2018 to 2023 1s
Q- B 82018 c00G 2023 & DOAS 8,8 dows

Options :
10.111

Sub-Section Number : 5
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Question Number : 36 Question Id : 26544814649 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Internet explorer is a type of

©OSTEO ©IEiEe S BIDD DFJE
Options:

Operating System
1. %

Compiler

2. %

3.¢



Browser

IP address

Question Number : 37 Question Id : 26544814650 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

High level programming language can be converted to machine language using which
of the following?

& 8% 788 08 &5FrA0d a8 %O&J [@8redooth graiid orol@E gl
e Se)iyh?
Options :

1 % Oracle

Compiler
2. =

Mat lab

4 % Assembler

Question Number : 38 Question Id : 26544814651 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Providing. managing and maintaining hardware, software. content integrity, security
and reliable high speed connection for a website 1s called:

o Hptntd HFI6, PR, DA HH(KS s, Sy edod
E3E S Qovendang, airesrdgEn Dosne, H8EroDHi aer Herks.

Options :

Web hosting
1.4

Web Browsing
2. %



Web Crawling

Navigation

Question Number : 39 Question Id : 26544814652 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
URL stands for

URL &&re

Options:

Universal Resource Locator
1. %

Uniform Resource Locator

Unified Resource Locator

4 % Universal Route Locator

Question Number : 40 Question Id : 26544814653 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Domain names used by commercial establishments usually have the suffix

aEoess ﬁo?&}ﬁm T8 @fsed 566 ﬁjgéj DB s BIDD (DE50D0 G0N0l

Options :
1. % -Org
2.« .com

3 % -ac.n

.gov.1n



Question Number : 41 Question Id : 26544814654 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A source of renewable power which can be development with minimum cost 1s:

503 65053055 588 €8 S SEARYA Slonlatilatila

Options :
Biomass power
@rdrn 48
1.4
Tidal power
) % BES 8
Wind mills

3 % ™ S08en

Geothermal energy

4w &00208 $8

Question Number : 42 Question Id : 26544814655 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

An earthquake of a magnitude in the range of 6-0 — 6-9 on the Richter Scale 1s
considered

Bgtﬂﬁ.} en 6.0 - 9.0 (Frosos® HBXrnos® Keonth drgoari))

Options :

Moderate
1% 3085 @otrdh

Strong

Db @otrh
2. =

Major
050 ®otrH
3.8 ©



Great
éﬁj,ﬁ‘} 0P

Question Number : 43 Question Id : 26544814656 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s not a water-borne disease?

&% &Ko 080 H6 DB o €00 LNARE LAY

Options :

Typhoid

5 % Hepatitis

3 % Cholera

Dengue
4.

Question Number : 44 Question Id : 26544814657 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following is the largest source of water pollution in major rivers of India?

et Tn (e ai) _a'ug S8t % 855 =065 06 ©&0s Ha é@éﬁ?ﬁnﬁ
_5.350370&“'5]

Options:

Untreated sewage

L, Db DoHY SnHrods
1.¢ @

Agriculture run-off

5 % SgRarcho Hod ached S%HSs

Unregulated small scale industries
Léﬁ]mtgosnmiﬁgj i) S85° HB(Eoen
3. %



Religious practices

0808 eadBeaen

Question Number : 45 Question Id : 26544814658 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
India’s contribution to total global carbon dioxide emissions 1s about...

(3508 sntﬁajﬁ 3 @5)& émgm@@ﬁ =a08die Hoh

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to
all candidates.

Options :

~15%

1.

Question Number : 46 Question Id : 26544814659 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which 1s the largest Open University in India?
s0805re 28 FBYBE DEDoegecho
Options:

Indira Gandli National Open University
1.4

Dr. B.R. Ambedkar Open University
2. %



Nalanda Open University

Yashwantrao Chavan Maharashtra Open University
4, %

Question Number : 47 Question Id : 26544814660 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The best way of providing value education is through. ...

Dend DSy @oBOBErRB & (Bod VE° DB SEFPE H55B?

Options :

Discussions on scriptural texts

. ErS3rtEad (Hogren S8en
1.

Lectures / discourses on values
DenHep), Gdargaren / (Hdorren

Seminars / symposia on values
aenep DD ﬁﬁ‘%ﬁm
3. %

Mentoring / reflective sessions on values

4 Dendep rBBEE / (HS&o SEma3Bven

Question Number : 48 Question Id : 26544814661 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following universities has adopted the Meta University conecept?
& BIHD E}ééﬂm%@ciﬁﬁﬁ}éﬁ Qb Der HEDoeD e ﬁééﬁoﬂo&
Options:
Assam University

1. %

Delhi University
2. ¢



Hyderabad University
3.

Pondicherry University
4, ®

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks
for this question if any of the correct options are chosen.

Question Number : 49 Question Id : 26544814662 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What 1s the key difference between non-formal and formal environmental education?

Qohd, eddhd Hoeghtn Jie i dmnd ae?

Options :

Formal education focuses on traditional subjects. while non-formal education
focuses on the enviromment.

QDS D VoERPCHo DRATP PP, ©VADE I DTFBL0 PT° el

Formal education is structured. while non-formal education 1s not structured.

Nahe DSy Doerd B, DSy JoyerEE00 soth
2.¥ -

Non-formal education 1s carried out in a formal classroom setting.

©AchE DXy ©HHsbE SLHS Kthe @aﬁﬁtﬁéeﬁﬁ eV ile

3. %
Non-formal education 1s only for young learners, while formal education 1s for all
age groups.
@D DL o0 21 b Ke @%}ﬁémﬁé 5°%) Aohe Dy e Haho
QR PENeE).

4. %

Question Number : 50 Question Id : 26544814663 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Who rejected the principles of admunistration as ‘myths’ and ‘proverbs’?

BBarome Sr@dnedh HEB Horwren, drbden ol 88BoNI6:



Options :
W. F. Willoughby

“ Chester Barnard

Herbert Sumon

4. % L.D. Whate

Paper II
SectionId : 265448194
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 100
Number of Questions to be attempted : 100
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 265448601
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 26544814664 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Let a, =0 forall nz1. Suppose that > a, is convergent.
Ml

Consider the following statements.

o ll_
"u'lnn :
(I) Z 1s also convergent
n=1 L
x
II) N .JJa a_, isalso convergent
i noon+l
— -
n=l

(I) > a, isdivergent

n=l

Choose the correct option from the following.



Options :

v I and II are true but III 1s false

I and III are true

2. %
3 % II and III are true

All the three statements are true
4. %

Question Number : 52 Question Id : 26544814665 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

1 = et
lim (1 + 1)[:,;”9*@&& -
0

n—® (x+3)
Options :
4e
9
1. %
Oe
8
2. %
Oe
3.¢
de
3
4, ®

Question Number : 53 Question Id : 26544814666 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following statements 1s FALSE?

Options :



If f:]0,1] — [0,1] 1s a continuous mapping. then there exists at least one
x€[0,1] such that f(x) = x.

Every continuous open mapping f: R — R need not be a monotonic function.
2.

If f 1s a continuous mapping of a metric space X into a metric space Y. then
f(E)c f(E) foreveryset Ec X.
3. %

A uniformly continuous function of a uniformly continuous function is
uniformly continuous

4, %

Question Number : 54 Question Id : 26544814667 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Consider the following statements.

(I) & e,

(II) (e—x)"" <(e+x)"" for x=(0.€).
Choose the correct option from the following.

Options:

Only I 1s true

1. %

5 % Only II 1s true

3 % Both I and IT are false
Both I and II are true

4, &

Question Number : 55 Question Id : 26544814668 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



l =g (x)=x"(1-x).

On [0.1]. consider the sequences of functions f (x)=—
1+ (nx-1)

Choose the correct option from the following.

Options:

Both {f;} and {g,} converge uniformly.

1. %
{fh} converges uniformly while {gn} converges point wise.
2. %
{fn} converges point wise while {gn} converges uniformly.
3.¢¥
Both {fn} and {gn} converge point wise.
4, ®

Question Number : 56 Question Id : 26544814669 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

an
[1_ cos3x

e dx=
[\ X
Options:
1
—log_ 3
2
1. %
1
—log, 10
2.¢  “
1
—log, 28
3. % 8
llﬂgﬁii
8



Question Number : 57 Question Id : 26544814670 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following statements 1s TRUE?

Options :

If the Lebesgue outer measure of a set 1s zero. then the set 1s countable.

1. %
If a function 1s uniformly continuous, then it 1s absolutely continuous.
2. %
If a tunction 1s absolutely continuous. then 1t 1s of bounded variation.
3.¢

Let Ec Rand aeR. If E is a Lebesgue measurable set. then E+a need
not be a Lebesgue measurable set.

Question Number : 58 Question Id : 26544814671 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 2 Wrong Marks : 0

1
S 0<x<l
2
| 5 5
. = A -'=,|__ < -{;
Let ¢:[0.3] — R be defined as ¢(x) = 5 1<x .
g
|5 —<x<3
'_ 2
Then Ig& =
[0.3]
Options :
2
1. % 4
-
2. % 4
5
4



= |

Question Number : 59 Question Id : 26544814672 Question Type
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

: MCQ Option Shuffling : No

If f:[15] = R isdefined as f(x)=x" +4x+3. then the total variation of fon [1,5]

15

Options :
80

10

Question Number : 60 Question Id : 26544814673 Question Type
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

.-T‘ﬂ'ﬂ: 1 I:+ }-‘51'11‘ L | if x#0and y=0
X J V)

i 01 1)

f(x.y)= ietl S| if x#0and y=0
L _I,'
ah _

|.1.-‘5111‘ — ‘ if y#0and x=0

¥

Choose the correct option from the following.

Options :

f 1is not continuous at (0.0).
1. %

: MCQ Option Shuffling : No



fr (0.0) and f,, (0.0) exist.
2. ® ’

f 1s continuous at (0.0) but £,.(0.0) and f,, (0.0) do not exist.
3. v ‘

Neither f is continuous at (0.0) nor f.(0.0). f,(0.0) exist.
4, %

Question Number : 61 Question Id : 26544814674 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 2 Wrong Marks : 0
Let V be the vector space of 3 %3 matrices over the field of real numbers and

[0 0 -4
A=11 0 -5/|.LetT be the linear operator on V defined by T(B) = AB for any

[0 T =7
BeV. Then the minimal polynomial for T 1s

Options:
L+A2 4 5547
-4’ —5x—7

2. %

x4+ T+ 5
3. %

"
4T+ 5x4+4

Question Number : 62 Question Id : 26544814675 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following matrix 1s not diagonalizable?

Options :

|

-

[ ]

-

=

1.¢



3 1.

g 21
2'35 = -

o 4]

=k §
3. % =

[ % i

|3 5
4, % -

Question Number : 63 Question Id : 26544814676 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Which of the following statements i1s FALSE?
Options :
Every matrix A such that A>= A is similar to a diagonal matrix.

1. %

If the characteristic polynomials are same, then the matrices are similar.
2. ¥

The characteristic polynomial of an nXn mlpotent matrix 1s x™.

3. %
[0 1 1
The minimal polynomial of the matrix 4={0 0 1|1sx3
0 0 0
4. %

Question Number : 64 Question Id : 26544814677 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Let V be a finite dimensional vector space and T:V — V be a linear operator. Also let

W be an variant subspace for T.

Consider the following statements.

(I) The characteristic polynomial of the restriction operator Ty divides the
characteristic polynomial for T,

(I) The minimal polynomuial for T divides the minimal polynomial for Ty,

Choose the correct option from the following.

Options :

Both I and IT are true

1. ®
I1s false while IT 1s true
3 ¥ I 1s true whaile II 15 false
Both I and IT are false
4. %

Question Number : 65 Question Id : 26544814678 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

1 31 1
{ 7 l {:}I
The Jordan canonical form of the matrix A= 5 B 15
-1 1 0 3_'
Options :
2 L. o]
Q 2 00
0 0 2 1|
'}I
- [0 0 0 2]
(2 1 0 0]
0 2 1 0
g ¢ 298
0 0 0 2_'




21 o0 0]
0200
00 2 0f
0 0 0 2|
3. %
T o)
g 72 iB
g g 2 4l
0 0 0 2]
4. %

Question Number : 66 Question Id : 26544814679 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

For any nXn matrix A, let tr(A) denote the trace of the matrix A. Then which of the
following statements 1s FALSE?

Options :

If A.B are any two nXn matrices. then tr(AB) = tr(BA).
1. %

If A = A then the rank of A is trace of A.
2. ®

If A, B, C are nXn matrices. then tr(ABC) = tr(BCA) = tr(CAB).

There exist two nXn matrices A, B such that AB — BA = I (Here n = 2).
4, v

Question Number : 67 Question Id : 26544814680 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

If a 7%5 matrix A has rank 2. then the dimension of the null space of 4 1s

Options :
1. %



| -

Question Number : 68 Question Id : 26544814681 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The dimension of the subspace W of R* spanned by the vectors (1,-4.-2.1). (1.-3.-1.2).
(3,-8.-2.7) is

Options :
1. % :

3
2. %

4
3. %

2
4.+

Question Number : 69 Question Id : 26544814682 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

If the linear operator T: R* — R? is defined as
T(x,y,2) = (x —3y—2z,y—4z,2),then T71(1.3.2)=

Options:

(38.2.11)

(38,11,2)
2. ¥



, % (11238)

—
| ()
L}
»
—

e

Question Number : 70 Question Id : 26544814683 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The rank of the quadratic form 6x7 +17x3 + 3x] — 20x,x, — 14x,x; + 8x,x, is

Options:
1.8 0
2. % 2
2
3.¢
g% !

Question Number : 71 Question Id : 26544814684 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The number of positive integers less than or equal to 400 which are not divisible by
2,30r51s

Options:
1.« 106

107

2. %

108

109



Question Number : 72 Question Id : 26544814685 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Let Sp be the symmetric group on n symbols.

Consider the following statements.

(I) The number of 4 cycles in Sg 1s 180.

(II) The number of conjugates of (1,2.3.....n) in Sp is (n-1)!.
Choose the correct option tfrom the following.

Options :

Only II 1s true
1.9 il

Only I 1s true

3 % Both I and II are true

Both I and IT are false

Question Number : 73 Question Id : 26544814686 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The order of the Sylow-3 subgroup of the general linear group GL4(Z3) of 4x4
matrices with entries from the field Z3 is

Options :

T

729

2187



Question Number : 74 Question Id : 26544814687 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following statements 1s FALSE?

Options :

If H is a subgroup of a group G. and if N(H) = {ge G | gHg™' = H}. then
N(H) 1s the largest subgroup of G in which H is normal.

1.
If N, M are normal subgroups of a group G. then NM 1s also a normal
subgroup of G.

2. %
The alternating group A4 has no subgroup of order 6.

3. %

The Sylow-5 subgroup of the group G of order 30 is not a normal subgroup.

Question Number : 75 Question Id : 26544814688 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
The degree of the splitting field of f(x) = x*—2 over the ficld of rational numbers is

Options :

1. 4

Question Number : 76 Question Id : 26544814689 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



If ¢ (x) denotes the n® cyclotomic polynomial. then ¢ (x)=

Options :

2 xl
1. %
_ X +1
2. %
-zt
3. %
4@ T=EHl

Question Number : 77 Question Id : 26544814690 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following statements 1s TRUE?
Options :

Every principal ideal domain 1s a Euclidean domain.

1. %
In the ring Z[V5]. 2 is irreducible but not prime.
2. ¢
Z[v—3] 1s a principal ideal domain.
3. %
In an integral domain. every irreducible 1s always a prime.
4, ®

Question Number : 78 Question Id : 26544814691 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

i LA % : : =177 .
The units digit in (the decimal expansion of) 17" is

Options :



2. % 3
3. % 9
4% 1

Question Number : 79 Question Id : 26544814692 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A horizontal lever 1s 1n static equilibrium under the application of vertical forces Fy at
a distance 11 from the fulerum and F at a distance I3 from the fulerum. The
equilibrium for the above quantities can be obtained if

Options :

Fili =F21;
1.4

2F111=-F2(+10)

2. ®

Fi12=2 F2(b+10)
3. %

Fili < Fals
4, ®

Question Number : 80 Question Id : 26544814693 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
The Hamilton equations of motion for one dimensional harmonic oscillator are

Options :

_— i+X=p. x+mk=0



p=niX, mi+k=0

p=mx. mx+kx=0
3.¥

4 % X+pi+mx=0. X+kx=0

Question Number : 81 Question Id : 26544814694 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

X

y(t)smtdt is equivalent

X

X

The integral equation y(x)=/Asm .TI_‘L‘{I) cost df + Acosx
0

to the boundary value problem

Options :
¥V —Ay=0, y(0)=0, y(m)=0

1. %

V+(A-Dy=0. y(m)=0. V(0)=0
2. ®

¥ —(A-Dy=0, wW#)=0, y(0)=0
3.
4 % Vv +Aa=0 ¥7)=0. y(0)=0

Question Number : 82 Question Id : 26544814695 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

7
1
If the ntegral equation y(x)=A jsirf x y(t)dt has a non-zero solution, the 4 =

0

Options :

2
m—2
1. %



Question Number : 83 Question Id : 26544814696 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

If y(x) satisfies the integral equation y(x)=1+x+ [e'zh_” y(t) dt . then y(4)=
0

Options:

Question Number : 84 Question Id : 26544814697 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The variation of the functional I[y(x)]=|y'smydx is

ey iy

Options:

(Vcosydv+smydv)dx
|V cosydy+siny &

0
1.¢



| ('siny & +cosyd)dx
0

Fi
| (V' y+sin y &) dx
3.% !

x
| (sin y &y +cosy &) dx

4. % "

Question Number : 85 Question Id : 26544814698 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

b
The extremals of the functional I[y(x)]= J.E[Jl-l_}-' Mu'll + v dx are

Options :

Catenaries
Cycloids
Circles

Straight lines
4, w

Question Number : 86 Question Id : 26544814699 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The extremum of the functional I[y(x)]= [(}-‘2 +x7y)dx, p(0)=0, y(1)=1.1is
0
achieved on the curve

Options :

y=x
1. %



2. ¥

32 = 3
3. %

y =x
4. %

Question Number : 87 Question Id : 26544814700 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

CO5X
5l

If the function f(x.y)=(v+y") satisfies Lipchitz condition on

R= :'LI- y): |J.'—1| < |}| <1, then the Lipchitz constant K =

Options:

Question Number : 88 Question Id : 26544814701 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The functions x* and I3|I| are linearly independent on

Options :
[-4.0]
1. %
[0.4]
2. %



[2.8]

[-4.4]

Question Number : 89 Question Id : 26544814702 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Let 3,(x) and y,(x) be two linearly independent solutions of " +a(x)¥=0 such
that 31(0)=137(0)=0.y,(0)=0.35(0) =1. Then the Wronskian W(3,.3,)(4) =

Options:
1

1.¢

2. % %

3. % 15
.,

4. % ~

Question Number : 90 Question Id : 26544814703 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The eigen values of the BVP v'+(A-1Dv=0. ¥(7)=0.1(0)=0 are

Options :
1 "|_ ; ;
1+ n Fo s where n 1s any mteger
1.9
I.’ 1 xll— I I
1-|n 3=l where n 1s any integer
I e
2. %



¥

f 1Y : :
1—| n+— | .where n 1s any integer

-

[ 1 : . g
1+ n 5 k where 0 is any integer

4. %

Question Number : 91 Question Id : 26544814704 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

If the Green’s function of the BVP 1" =0. v(0) = v'(1) and v'(0) = 1(1) is

. 'a1.1'+aﬁ. x=1
G(x,t) =1 - ,then a, +b =
bx+b,. x=t -

Options :

1.8 !
5@ 22
=1

3. %
2f
4, %

Question Number : 92 Question Id : 26544814705 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The mtegral surface of the equation z_ +z_ =1 passing through the curves x=0 and

£=y IS

Options :

5

y =z—x
1.% 7

(y+x) =z+x
2. %



(-3 =z-x
4, &

Question Number : 93 Question Id : 26544814706 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The partial differential equation (1+y)z, +2xz, +(1-y)z,, =01s elliptic in the

region
Options :

1@ {(_T._v} x* +y7 <1

3 ] T
{{x. y):x+y >1 |

2. %
r i ]
- xyx"+y = l}
{(I._v} = _J; < 1:'
4. %

Question Number : 94 Question Id : 26544814707 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

If u(x.t)1s the solution of #, =4u_ under the conditions #(0.1)=u(x.r)=0 and

1

u(x.0)=smx,0<x<mi>0, then 4:

L.Jl-—.|

Options :



Question Number : 95 Question Id : 26544814708 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

: z X 23 3
The rate of convergence of the method x,; =T”{_3>—_T; L o= 042 . s

Options :
1% 1
2
2.
3. % *
1.412
4. %

Question Number : 96 Question Id : 26544814709 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Consider the system of equations x—ay =4k, and —ax+y ==k, where a 1s areal
constant. Then the spectral radius of the Gauss-Seidel iteration matrix 1s

Options :



Question Number : 97 Question Id : 26544814710 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
If f(0)=1. f(1)=3 and f(3) =55. then f(2)=

Options :
32

1. %

2. % S
3

3.+ o

4, ® =

Question Number : 98 Question Id : 26544814711 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A differentiation rule is of the form f'(x;) =a,f; +a,f, +a,f,. x =x,+nh. 1s

given. Then the value of a, +a; +a, so that the rule is exact for a polynomial of

degree <215

Options :

Question Number : 99 Question Id : 26544814712 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Let X = R be with confinite topology on it. Then which of the following 1s open 1n
X?
Options :

The set of rationals
1. %

(0.1)

L x 1234

The set of all reals which do not lie in the set {neN : n is even = 224}

4. &

Question Number : 100 Question Id : 26544814713 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Let T be the topology on R generated by the interval [a.b) and let T be the topology
on R induced by the collection of all linear functions f: R — (R, T) defined by
f(x) =ax+b, a,beR. Then T  is

Options :

indiscrete topology

discrete topology

co-finite topology
3. % )

co-countable topology
4, ®

Question Number : 101 Question Id : 26544814714 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Consider the following three statements.

(I) The components of a totally disconnected spaces are its points.

(IT) A Hausdorff space 1s totally disconnected if it has an open base whose sets are
also closed.

(IIT) The product of a non-empty class of locally connected spaces is locally
connected.

Which of the following options 1s correct?

Options :
All 1. IT and IIT are true

1. %

L. IT are true and III 1s false
2. ®

I 1s true and II. III are false
3.¢¥

I II are false and III 1s true

Question Number : 102 Question Id : 26544814715 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Consider R with diserete topology on it. Then which of the following sets 1s compact
m R?

Options :

| o (2468....2024)

5 % [1.4]

The set of rational numbers
3. %

(e nen)



Question Number : 103 Question Id : 26544814716 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
If z% =4 then 7z =
Options :
i Ty 4

1. %

nT _iln2

2ee .nel

E—nf ez'[lr_l—u.ﬁ']t neT

R | T A
e ?f,.er[_n_ "'T].}‘ZEE

Question Number : 104 Question Id : 26544814717 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
If f(2) is an analytic function such that Re[ £'(z)]=3x" —4y—3y” and f(1+i)=0.
then f(i)=

Options :
251
1. %
6 — 5i
2.
3. % 0
—6 + 5i
4, ®

Question Number : 105 Question Id : 26544814718 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



If the function f(z) 1s analytic mnside and on a simple closed contour € containing the
r

point Z = Zg mside 1t, then je'fef{:u +&%)d6 =
0

Options :

- 27i f'(z,)
i f(z,)
2r (zy)

3.¢
5 (@)

4, ®

Question Number : 106 Question Id : 26544814719 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

6 3.
. y " : : . z +4z°+5 .
The radius of convergence of the Maclaurin’s series of f(z)=—— s
l—cosz
Options:
2
1.¢
2.% ©
1
3. %
.
4, % ~

Question Number : 107 Question Id : 26544814720 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



d

1 1

L/ - W= = - :
The value of the integral | (1+z+ 32']I e’ +e e e |dz 15

1
s

Options :
1.% 0

Question Number : 108 Question Id : 26544814721 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a real part of an analytic function?

Options :

sinxcos/v
1. %

X +I1
2.9

1=3xp —2%
3. %

e (xsmy+ycosy)
4. %

Question Number : 109 Question Id : 26544814722 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

ao .
s g ~xsinx
The principal value of the integral |

:E 1-_ .3

dx 1s

Options:



1. ®

2re’
2. %

e
3. v

Te
4, %

Question Number : 110 Question Id : 26544814723 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Let C bethecircle C:z=4€°.—7<8< 1. Then

=

T &=

dz
i:l.'r.

Options:

2
1.8 3
T
2. % 8
8T
3. % 9
T

Question Number : 111 Question Id : 26544814724 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Suppose a population of 3 units has the values. 2.4 and 6. Two units are drawn from
the population using simple random sampling without replacement and M denotes the
mean. Which of the following statements are true?

(1) EM) =4 (1) Var (M) =1

(i) E(M?) =17 (iv) E(M?) =72



Options :

(1) and (ii)
%®

(1) and (111)
2. %

(1) and (1v)

(11) and (iv)

Question Number : 112 Question Id : 26544814725 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Suppose C, and C, are coefficients of variance of auxiliary variable X and study

variable Y respectively. p is the correlation between X and Y, then the ratio estimator
1s more efficient than simple mean per umt estimator 1f

Options :
- LY &
P3¢
1. % :
A
P53
2. i
_1 C‘_Y
Y
3. % 2
&7
pimbetes
2.C,
4. % :

Question Number : 113 Question Id : 26544814726 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Let ¥and 7 be the estimates of population mean under simple random sampling and
stratified sampling respectively. Suppose the estimates of their variances are

V(¥)=291 and V(¥st) =379. The estimate of the relative gam in efficiency due to

stratification 1s given by

Options :

1% 10%

13%

20%

30%

Question Number : 114 Question Id : 26544814727 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following methods are used to obtain samples under probability
proportional to size sampling scheme?

(1) Lottery method (1) Cumulative total method
(111) Lahiri’s method

Options :

_— only (1)

both (1) and (11)
3 @ Both (11) and (111)
v (i)
L only (111)

Question Number : 115 Question Id : 26544814728 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Each face of a 10 inch cube 1s pamted. The cube 15 cut into 1000 one mnch cubes. The
1000 cubes are mixed and one cube is drawn at random. What is the probability that
the cube has exactly one painted face?

Options :

0.384
1.4

0.467

0.5

0.616

Question Number : 116 Question Id : 26544814729 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Candidates A and B are applying for a job. The probablity that A applies for a job 1s
1/4, the probability that A applies for the job given that B applies for the job is 1/2
and the probability that B applies for the job given that A applies for the job 1s 1/3.

What 1s the probability that A does not apply for the job given that B does not apply
for the job?

Options:

11/12

1. %

Question Number : 117 Question Id : 26544814730 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



02 i [x<l

Let X be a random variable with the probability function f(x)= ‘ 01 i 1< ‘J.’| <4,
0 ow

What 1s the P(0.5 <X <5)?

Options :
1.% 03

0.4

1.5

4, = e

Question Number : 118 Question Id : 26544814731 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Suppose E[X]. E[Y] and E[X]+E[Y] exist. then which of the following statements 1s
not true?

Options :
E(CX)=CE [X]

X> Y a.s=E[X]2E[Y]

2. %

X 1s integrable <= |X | 1s integrable
3. %

|X | < Y. X 1s integrable = Y 1s mntegrable
4.+

Question Number : 119 Question Id : 26544814732 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Which of the following 1s a characteristic function corresponding to f(x)=e ", x20
q

Options :

(1—du)™

2. ®

3. % ¢*
1—cosu

4% u’

Question Number : 120 Question Id : 26544814733 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Suppose P(X =1I)= % =P(X =0)and X 'sare independent. What 1s the

distribution of Z =) X, 2™ ?

Options :
N(0.1)
1 (U.1,
N|=.1]
L. 2
2. % o
U(0.1)
3. %
ul L |
| 3
4, %

Question Number : 121 Question Id : 26544814734 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 2 Wrong Marks : 0

Suppose I €5 of a Markov chain. which of the following statements is true?

Options :
o) .
[ 1s recurrent iff ¥ p:_:fﬂ’} <
n=8 2
1. %
A R o
i 1s transient iff ¥ pNY <=
)
n=>0
2. ¢
- ' . [ =
i 1s transient iff ¥ p, ==
3. % =0
T )
if 7 1s recurrent. then Ho< ¥ }g}‘"ﬁ
© p=1
4, ®

Question Number : 122 Question Id : 26544814735 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

3 3
. ; . 1 1 e .
Consider three state Matkov Chain having tpm| — 0 = |. Which of the following
g ®
S
2 2 )

i1s the limiting distribution of the given tpm?

Options :

- .,
Lo | =
g | b
La | =

Iﬁ_.lll—l
e | =
N



Question Number : 123 Question Id : 26544814736 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Consider a Markov Chain Xo, X1. X»... with state space S. Suppose 1, ] € § are two
states which communicate with each other. then which of the following statements 13
not true?

Options :

lm P(X,=j|X,=i)=lm P(X,=j|X,;=))

1. %
b P(X.=i| Xsy=k)=Im P(X_=j|X;=k}vVkeS
2. ¥
. i1s recurrent iff j is recurrent
3.
period of i= period of ;
4.

Question Number : 124 Question Id : 26544814737 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

If passengers arrive singly at a taxi stand in accordance with Poisson process with
Parameter /, and taxis arrive in accordance with a Poisson process with parameter /, .

then the mean and variance of N(t) that give the excess of passengers over taxis in an
mterval t are given by

Options :



(A, —A4)t and (4 +A4,)1

1.4

u (A=At and (4, —A,)¢t
3 (A +A)t and (A —A4)f
. (A +A)t and (A +A4,)¢

Question Number : 125 Question Id : 26544814738 Question Type
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct?

() If X~G(a.n) thenfor @ <1, mean> variance

.- 2 2 . .

() If X, ~y, and X,~ 7, aretwo independent 77 variates then
X (|

Xi®, 3

3 AL O

(it1) If X, ~ G(n)and X, ~ G(n,) are two independent Gamma variates then

X,
~ B (n,.n,
oA

: MCQ Option Shuffling : No

(iv) If X ~ fB,(m.n)such that m <1 and n <1 then the distribution of X has mode at

x=0

Options:

ll.& i"L'
1. %

1, 11 & 111
2.

1. 111 & 1v
3.

11 & 111

4.+



Question Number : 126 Question Id : 26544814739 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Let Xi. ...., Xybe a random sample from normal distribution with mean & and
. o . . " . A AP . .
variance ¢ . What 15 the distribution of (n—1)g”. where ¢~ 1s an unbiased estimator

ofc??
Options:

Chisquare distribution with 1df

Chisquare distribution with (n — 1)df
2. %

Scaled Chisquare distribution with (n — 1) df
3.¢¥

Scaled Chisquare distribution on with n df

Question Number : 127 Question Id : 26544814740 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Suppose X(1). X@)..... X 1s order statistics for a random sample from a continuous
distribution with cdf F(x), then the margmal density of v; = F(X(j)).1=j=n

follows beta distribution with parameters @and § given by

Options :
oy
- jand n + j
andn—j+1
, jandn — j
jandn —j
3. %
jandn—j—1

4. %



Question Number : 128 Question Id : 26544814741 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
In a linear model y=Af +ewhere y=(y....., Y B=(B.-.. 5, T, e =(q, e )
A is (nxp) matrix and e~ N(0. &*I). suppose /' B 1s estimable. its best estimate i

given by A' fwhere fis any solution of the equations

Options :

A4 B=Ay
| x ME~H

AAB=Ay
2. = 7

Question Number : 129 Question Id : 26544814742 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Suppose d 1s the difference between two treatments means to be detected. S 15 an

estimate of the error mean square and t1s the tvalue at alevel of significance for df
: : =3 = : ; i E

assoctated with S°, then the number of replications 1s given by

Options :

2t 8§
S
_. d
1. %
B i |
S
or
gl
2. %



Question Number : 130 Question Id : 26544814743 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What type of outcome variable does logistic regression typically modelled?
Options :

Categorical with more than two categories

Continuous

Ordinal

dichotomous
4. &

Question Number : 131 Question Id : 26544814744 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The following lay out

e
o S s
vs B er i gy
aEpNwiw!

Fy i

Meets the requirement of a

]

Options :

Completely randomized design
1.4



BIBD

2. %

3 % Randomized block design
Latin square design

4.

Question Number : 132 Question Id : 26544814745 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true?
i, For a fixed effect model y; = u+a; + B, +(af), + ;. Z o =1 Z B;=0& Z (ap); =0
u. 5L+2%5 -1, 1s not a contrast among three treatments

111. The mformation from an experiment stabilizes when error degrees of freedom i
atleast 10

iv. An experimental design which 1s devoid of any randomization process 1s known
as a systematic design

Options:
1& 1

1. %

1,11 & 11
2. ®

11 & 1v
3. ¢

1 & 1v
4. %

Question Number : 133 Question Id : 26544814746 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

If the interactions AB and BC are confounded with incomplete blocks in a 2* factorial
Experiment. then automatically confounded effect 1s

Options:

1.% A



2. %
3. v AC
4. ® ABC

Question Number : 134 Question Id : 26544814747 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Suppose X with p components has multivariate normal distribution. N(.L). then

y=CX with C as a nonsingular matrix is distributed as

Options :

NiCi, CXC)
1.9 B

N(Cu, C ZC)

2. %

N(Cu, CT'C)
3. % -

N{Cit; T'Z7€)
4, % -

Question Number : 135 Question Id : 26544814748 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

fadlih o e
iy : X7 % Y,
Let X be distnbuted according to N, (4.Z). Let X=| : z =‘ \_11 ke
el

L

and # be

\&n <n)
the i® row of EDEZ_E (I=1..q). Of all linear combinations aX'? . the combination
&L : (7 i .
that minimizes the variance of X, — X"~ and that maximizes the correlation between
(7). . . v 17 . . -~ .
X.and aX"is the linear combination GX'. The multiple correlation coefficient

between X and X s

Options :



-1,
e M S 1
J(I'}L'IJ ’(i") i

1. %
c. 1 1ls /o _-%
@ “22°@)" i |
2. ¥
c. 2 1ls /o _-}é
@11 %@ i |
3. %
c s le /o
1Y ) i
4, =

Question Number : 136 Question Id
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

: 26544814749 Question Type : MCQ Option Shuffling : No

Let Z = a'X be a principal component which is uncorrelated with first k principal

components. In such case, the variance of z will be maximum ifitis _ principal

component of X.
Options:

(k+1)®
1. ¢

Question Number : 137 Question Id

: 26544814750 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 2 Wrong Marks : 0

Suppose F(x)=1-F(x). where F is the life distribution of a unit. the corresponding

conditional reliability of the unit of age £ is

Options :
Flx|)=m)_
1 % F(t+x)
F(x|H)= F(r_xjffmw
F(n
2.

F(x|t)=F(t+x)F(t)
3. %

F(x|f)= %f}ﬂr] -0

Question Number : 138 Question Id : 26544814751 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following statements 1s not true?
Options :
The exponential distribution is the only life distribution with constant failure

o rate function

A used exponential component is essentially “as good as new”’

If U 1s uniform random variable on [0.1]. then y =log, U has exponential

distribution



If the survival probability G of a non degenerate non negative random ity
variable satisfies G(7+x)=G(1)G(x). 71 = 0. x = 0. then G is an exponential

4. % distribution

Question Number : 139 Question Id : 26544814752 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

In a series system with component reliabilities Ry= 0.90 and Ry= 0.85. what is the

probability that the system wall fail?

Options :
0.944
1. ®
0.765
2. %
3. % 4o
0.235
4. ¢

Question Number : 140 Question Id : 26544814753 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

If the observed and theoretical cumulative distribution functions are

observed
cdf 0.038 0.066 0.093 0.177 0.288 0.316 0.371

theoretical
cdf 0.036 0.042 0.129 0.159 0.203 0.235 0.238
The value of Kolmogorov-Smirnov test statistic Dy 15

Options :

| 0T



0.043

0.002

Question Number : 141 Question Id : 26544814754 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

If U 1s Mann-Whitney statistic and W 1s Wilcoxon rank sum statistic. then which of
the following statements establish a relation between W and U?

Options:

WU n(n+1)

1. % i
WzU_rz(n—lj

2 ® 2
W_U_fs{n+l]

g

3.¢ N
W_U_H{n—lj

4, % 2

Question Number : 142 Question Id : 26544814755 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

In Bayesian paradigm, the ‘evidence’ or marginal likelihood refers to
Options:
posterior probability of the hypothesis

prior probability of the hypothesis
2. %



the likelihood of the data given the hypothesis

the probability of the data under all possible hypothesis
4.

Question Number : 143 Question Id : 26544814756 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Suppose Xi. .... Xy is a random sample of size n from N(0.67). the sufficient

i 7 s :
statistic for o~ 1s given by

Options:
b2
1. ¢ i=l
24X,
2. % =

Question Number : 144 Question Id : 26544814757 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

If the density function of a variable X is f(x.8)=68e"".0<x <. The 95% central

confidence limits for large sample n are

Options :



Jn )X
2. %
106 )1
:?;{ b
VH /
3. ®
[1e22 ':i
\ n | X
4 v

Question Number : 145 Question Id : 26544814758 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Suppose a sample of size n 1s taken from U(-¢,6). The MLE of &1s given by

Options:

Max [|X1|. ....... |XH | )
1.¢

Question Number : 146 Question Id : 26544814759 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The method that 1s useful for testing null hypothesis (simple or composite)against a
composite alternative hypothesis when UMP test fails 1s

Options :

Mann-Whitney-Wilcoxon test
1. %



Sequential probability ratio test

2. %

Likelihood ratio test
3.¢¥

Most powertful test
4, w

Question Number : 147 Question Id : 26544814760 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Nine determinations of copper 1 certain solution yielded a sample mean of 8.3
percent with standard deviation of 0.025 percent. If g 1s mean of the population of
such determinations, which of the following statements based on an appropriate test
statistic 1s used to test Ho: g = 8.42 against Hi: p< 8.42 at a level of significance?

Options :
X<+

= l-1).a
W H

_ 5
X= g+l 1y 0-a)
f

V7
2. ¥
X2yt —=ty
WH
3. %
— 5
X2y +—1 a-m
U
4. =

Question Number : 148 Question Id : 26544814761 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Suppose a LPP 1s given by
Max Z=3x +2x,
X —X; =1
St x+x=3
X, X3 =0
The optimal solution to the problem 1s

Options :

| % unique solution existing at the point (2.1)

mifinite number of solutions

mfeasible solution

unbounded solution
4. &

Question Number : 149 Question Id : 26544814762 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Consider (M[M|1) : (== FIFO) quewing system. The arrival and departure rates of the
customers 1s respectively A and 4. The average number of customers in the system 15

Options :

A L, 7
A A
Y IR’y

1. %

- ‘ H—A _J
Th
e

3. %



[ )

\u(u—A4) )

Question Number : 150 Question Id : 26544814763 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Suppose 1 1s the demand rate taking discrete values. in a single period model with
discontinuous or instantaneous demand and time independent costs. the equation that

yields optimum value of stock level Z 1s (C1 15 holding cost / umt/ unit time and
C; 15 shortage cost / unit / unit time)

Options:
Z-]
> p@) B < ZPU
1 7 r=i) j r=i)
- mef: +C_ c:zpm
S p(r) <& zpm
3 % r=1)

Zp{r:m zp{r}





